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Time > 3 Howurs Maximum Marks : 150

Note — Attempt Five questions in all. Question No. 1 is

compulébry. All questions'carry equal marks.
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2 {5 Assess the contribution of NAM in terms of five Ds—
Decolonization, Detente, Disarmament, Development

»

and Democratization.

s rRie & dreE 1 Hedied S Si-

H g H wifeg |
e A



= 5 "  pR&IRII
Discuss the fac_tbr# .*Which O(J.Dt‘l'ibttllcdﬁ to the pProcess
of deco‘lonizati;:»n-. <
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Are you satisfied with the role of Lthe United Nations
in developing intgrriétiona_l 'order.l..? Cive arguments

in support of your answer and highlight the main

features of ithe emoerging ioternational order.
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Exarhine the im;;;ortar;cc i)f‘ : BRICS as an emerging
economic grouping.
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" The British governiﬁe'ntal systemis a majorilarian

d.cmocracy‘ whereas th'.ei l{_&;ﬁéf‘i.can- syétem is a
COMSeNnsus democrécy. Examme the -sft.at,er‘rlxent.

Compare the federal sybt,ems ththS-A and
Swi.i;zcr]m.'td. Which of th(‘"‘WOIS "-"an'_. ideal and

successful model of federalism 7
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Why is direct democracy successful in Switzerland ?

frive reason- in support of your answer.
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8. The Chincs;c tlonstitution oives Fu‘nd;m'x.t.m:ta'l. Rights
with one hand takes ithem away with an_o.tliler‘. ‘Do
You agree withh the statement ? Give reaséons..'
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